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Q.1. Choose the correct options.   (1 x 11 = 11)  
(i) A line segment has _____ end point:  _____ 
(a) one       (b) two      (c) three       (d) No     

(ii) The angle which can not be constructed using compass is:


(a) 45o (b) 90o (c) 56o (d) 60o

(iii) In a right angles triangle the largest side is:

 
(a) base    (b) line segment


(c) perpendicular  (d) hypotenuse 

(iv) A right bisector intersects the line at an angle of:

 ______ 
(a) 30o (b) 60o (c) 90o (d) 120o

(v) The sum of interior angles in a triangle is always is equal to:

 _____ 
(a) 60o (b) 120o (c) 180o (d) 260o

(vi) A line has ______ end points:  _____ 
(a) one  (b) two      (c) three        (d) No    

(vii)The basic angle in the construction of geometry is:


(a) 30

o
(b) 45

o
(c) 60

o
(d) 75

o

(viii)Any closed shape having three straight edges and three angles is called:


(a) triangle   (b) rectangle (c) hexagon  (d) pentagon 

(ix) A ray has _____ starting point:  _____ 
(a) one  (b) two      (c) three        (d) None of these


(x) The sum of exterior angles of a triangle is always equal to:

 _____ 
(a) 90

o
(b) 270

o
(c) 180

o
(d) 360

o

Q.2. Answer the following questions: (4x2=8)  
(i) Define line segment. 
(ii) What is the difference between ray and line?    


(iii) Define scalene triangle and draw the shape.    

(iv) Draw the following angles with the help of compass and thn draw the

bisector of each angle.           


(a) 45o (b) 135o

Q.3. Calculate all the interior and exterior angles of an equilateral angles.

(1x4=4)


Q.4.Find the value of x in the given figure.  (1x3=3)

 x 

1 1


